# Peter Maličký A vector lattice variant of the ergodic theorem

In: Zdeněk Frolík and Vladimír Souček and Marián J. Fabián (eds.): Proceedings of the 14th Winter School on Abstract Analysis. Circolo Matematico di Palermo, Palermo, 1987. Rendiconti del Circolo Matematico di Palermo, Serie II, Supplemento No. 14. pp. [391]--397.

Persistent URL: http://dml.cz/dmlcz/701911

## Terms of use:

© Circolo Matematico di Palermo, 1987

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

#### A VECTOR LATTICE VARIANT OF THE ERGODIC THEOREM

#### Peter Maličký

This paper is in final form and no version of it will be submitted for publication elsewhere.

1. Introduction

The purpose of this paper is to give a variant of the ergodic theorem for functions with values in a vector lattice. Let  $(\mathfrak{A}, \mathcal{Y}, P)$  be a probability measure space and  $T: \mathfrak{A} \rightarrow \mathfrak{A}$  be a  $\mathcal{Y}$ -measurable mapping. T is called measure preserving if  $P(T^{-1}(A)) = P(A)$  for any  $A \in \mathcal{Y}$ .

Theorem 1.1:

Let  $T: \Omega \to \Omega$  be a measure preserving mapping of a probability measure space  $(\Omega, \mathcal{Y}, P)$ . For any integrable function  $f: \Omega \to \mathbb{R}$ there exists an integrable function  $g: \Omega \to \mathbb{R}$  such that :

(i)  $\lim_{k \to \infty} \frac{1}{k} \sum_{i=0}^{k-1} f(\mathbf{T}^{i}(\omega)) = g(\omega) \text{ almost everywhere}$ (ii)  $\lim_{k \to \infty} \int_{\Omega} |g(\omega) - \frac{1}{k} \sum_{i=0}^{k-1} f(\mathbf{T}^{i}(\omega))| dP(\omega) = 0 .$ 

The parts (i) and (ii) belong to G.D.Birkhoff and J. von Neumann respectively. See [5] pp. 30-38.

It is convenient to describe the limit function g using the conditional mean value. Let  $(\Omega, \mathcal{Y}, P)$  be a probability measure space and  $\mathcal{Y}_0$  be a  $\mathcal{C}$ -subalgebra of  $\mathcal{Y}$ . For any integrable  $\mathcal{Y}$ -measurable function  $f: \Omega \rightarrow \mathbb{R}$  there exists an integrable  $\mathcal{Y}_0$ -measurable function  $g: \Omega \rightarrow \mathbb{R}$  such that :

$$\int_{A} f(w) dP(w) = \int_{A} g(w) dP(w) \text{ for any } A \in \mathcal{Y}_{0}.$$

The function f determines the function g uniquely almost every-

where . All these facts may be found in [1] pp. 193-194. The function g is called a conditional mean value of f with respect to  $\mathcal{Y}_{0}$  . We shall write  $g = E(f | \mathcal{Y}_{0})$ .

In Theorem 1.1 it may be put  $g = E(f | \mathcal{Y}_0)$ , where  $\mathcal{Y}_0$  is the 6-algebra of all almost T-invariant sets. (A set  $A \in \mathcal{Y}$  is called almost T-invariant if the symmetric difference  $A \vartriangle T^{-1}(A)$  is a zero set.)

This paper uses the results of [3] concerning the mean value and the conditional mean value for vector lattice valued functions, see also [4] . A special case of the presented ergodic theorem has been proved by E. Hrachovina, see [2].

2. Vector lattices

A real vector space V is called a vector lattice if it has a partial ordering  $\leq$  such that  $(V, \leq)$  is a lattice and :  $\forall x, y, z \in V: x \leq y \Rightarrow x + z \leq y + z$  $\forall x, y \in V: \forall \lambda \geq 0: x \leq y \Rightarrow \lambda x \leq \lambda y$ . Lattice operations are denoted by symbols  $\lor$  and  $\land$ . If  $a \in V$  then the symbol |a| denotes the element  $a \lor (-a)$ . A vector lattice V is called 6-complete if every upper bounded sequence  $\{a_n\} \in V$  has a least upper bound which is denoted by the symbol  $\bigvee_{n \neq i}^{\vee} a_n$  (or equivalently, every lower bounded sequence  $\{a_n\}$  has a greatest lower bound which is denoted by  $\bigwedge_{n \neq i}^{\vee} a_n$ ).

Definition 2.1:

Let V be a 6-complete vector lattice. A sequence  $\{a_n\} \in V$ is called decreasing to 0 if :  $\forall n: 0 \leq a_{n+1} \leq a_n$  and  $\bigwedge_{n=1}^{\infty} a_n = 0$ . We write  $a_n \geq 0$   $(n \rightarrow \infty)$  in this case. A sequence  $\{x_n\} \in V$  is called converging to  $x \in V$  if there exists a sequence  $\{a_n\} \in V$  decreasing to 0 such that  $|x_n - x| \leq a_n$  for all n. We write  $x_n \rightarrow x$   $(n \rightarrow \infty)$  in this case.

Proposition 2.2:

Let V be a 6-complete vector lattice.

(i) A sequence  $\{x_n\} \in V$  converges to  $x \in V$  if and only if  $\{x_n\}$  is bounded and  $x = \bigwedge_{n \to \infty} \bigvee_{m = n \to \infty} \bigvee_{m = n \to \infty} x_m$ (ii)  $a_n \ge 0, b_n \ge 0 \Rightarrow (a_n + b_n) \ge 0$ (iii)  $a_n \ge 0, \lambda \ge 0 \Rightarrow \lambda a_n \ge 0$ (iv)  $x_n \to x, y_n \to y \Rightarrow (x_n + y_n) \to (x + y)$  (v)  $x_n \rightarrow x \Rightarrow \lambda x_n \rightarrow \lambda x$ 

The following lemma will be important in the proof of the main result of this paper.

Lemma 2.3:

Let V be a 6-complete vector lattice and  $\{a_n\} \in V, \{b_{n,k}\} \in V$ be sequences such that :  $\forall$  n, k:  $b_{n,k} \ge 0$  $\begin{array}{ccc} \forall n: & b_{n,k} \to 0 & (k \to \infty) \\ a_n & 0 & (n \to \infty) \end{array} . \end{array}$ 

Put  $c_k = \bigwedge_{n=1}^{\infty} (a_n + b_{n,k})$ . Then  $\forall k: c_k \ge 0$  and  $c_k \rightarrow 0 \ (k \rightarrow \infty)$ .

Proof:

The inequality  $c_k \ge 0$  for all k is obvious. The sequence  $\{c_k\}$  is bounded because  $0 \le c_k \le a_1 + b_{1,k}$  for all k and  $b_{1,k} \rightarrow 0 \quad (k \rightarrow \infty)$ . It means that the element  $\bigwedge_{k=1}^{\infty} \bigvee_{j=1}^{\infty} c_{j}$  exists. Since  $c_k \ge 0$  for all k, by Proposition 2.2 it suffices to prove that  $\bigwedge_{k=4}^{\infty} \bigvee_{j=k}^{\infty} c_j = 0$ . We have :

$$\sum_{j=k}^{\infty} c_j = \sum_{j=k}^{\infty} \sum_{n=4}^{\infty} (a_n + b_{n,j}) \leq \sum_{n=4}^{\infty} \sum_{j=k}^{\infty} (a_n + b_{n,j}) \text{ and}$$

$$\sum_{k=4}^{\infty} \sum_{j=k}^{\infty} c_j \leq \sum_{k=4}^{\infty} \sum_{n=4}^{\infty} \sum_{j=k}^{\infty} (a_n + b_{n,j}) = \sum_{n=4}^{\infty} \sum_{k=4}^{\infty} \sum_{j=k}^{\infty} (a_n + b_{n,j}) =$$

$$= \sum_{n=4}^{\infty} (a_n + \sum_{k=4}^{\infty} \sum_{j=k}^{\infty} b_{n,j}) = \sum_{n=4}^{\infty} (a_n + 0) = \sum_{n=4}^{\infty} a_n = 0 .$$

Except for assumptions of lemma we used the obvious facts :

$$\sum_{j=k}^{\infty} \bigwedge_{n=4}^{\infty} (a_n + b_{n,j}) \leq \bigwedge_{n=4}^{\infty} \sum_{j=k}^{\infty} (a_n + b_{n,j})$$
 and 
$$\bigwedge_{k=4}^{\infty} \bigwedge_{n=4}^{\infty} \sum_{j=k}^{\infty} (a_n + b_{n,j}) = \bigwedge_{n=4}^{\infty} \bigwedge_{k=4}^{\infty} \sum_{j=k}^{\infty} (a_n + b_{n,j})$$

### 3. Integral and conditional mean value of vector lattice valued functions

In this section we give a summary of results of author's paper [3] .

Let  $(\Omega, \mathcal{Y}, P)$  be a probability measure space and V be a 6complete vector lattice. The symbol  $F(\Omega, V)$  denotes the set of all functions  $f: \Omega \longrightarrow V$ . Obviously,  $F(\Omega, V)$  is a 6-complete vector lattice under natural operations and ordering.

Two functions f,  $g \in F(\Omega, \vee)$  are called equivalent if there exists a set  $A \in \mathcal{Y}$  such that P(A) = 0 and  $\forall \omega \in \Omega - A$ :  $f(\omega) = g(\omega)$ . The set of all equivalence classes is denoted by  $\mathcal{F}(\Omega, \mathcal{Y}, P, \vee)$ and it is a  $\mathcal{F}$ -complete vector lattice under natural operations and ordering. A function  $f \in F(\Omega, \vee)$  is called simple if  $f(\omega) = a_i$  for  $\omega \in A_i$ , where  $\{A_i\}$  is a finite measurable partition of  $\Omega$  and  $a_i \in \vee$ . We put

$$\int_{\mathbf{a}} \mathbf{f}(\boldsymbol{\omega}) \, d\mathbf{P}(\boldsymbol{\omega}) = \sum_{i=1}^{n} \mathbf{P}(\mathbf{A}_{i}) \, \mathbf{a}_{i} \quad \text{in this case.}$$

A class  $\varphi \in \mathcal{F}(\Omega, \mathcal{Y}, \mathcal{P}, V)$  is called simple if it contains some simple function f. We put  $E(\varphi) = \int_{\Omega} \varphi \, dP = \int_{\Omega} f(\omega) \, dP(\omega)$  in this case.

The set of all simple functions is denoted by  $L_{o}^{\infty}(\Omega, \mathcal{Y}, P, V)$  and the set of all simple classes is denoted by  $\mathcal{Z}_{o}^{\infty}(\Omega, \mathcal{Y}, P, V)$ .

Let  $\{f_n\} \in F(\Omega, V)$  and  $f \in F(\Omega, V)$ . We say that a sequence  $\{f_n\}$  converges to the function f uniformly almost everywhere if there exist  $A \in \mathcal{Y}$ ,  $\{a_n\} \in V$  such that : P(A) = 0  $\forall \ \omega \in \Omega - A$ :  $\forall n$ :  $|f_n(\omega) - f(\omega)| \leq a_n$   $a_n \rightarrow 0$   $(n \rightarrow \infty)$ . Obviously, the condition  $a_n \rightarrow 0$  may be replaced by a stronger one  $a_n \geq 0$ . We write  $f_n \rightarrow f$  u. a. e.  $(n \rightarrow \infty)$  in this case. Let  $\{\varphi_n\} \in \mathcal{F}(\Omega, \mathcal{Y}, P, V)$  and  $\varphi \in \mathcal{F}(\Omega, \mathcal{Y}, P, V)$ . We say that the sequence  $\{\varphi_n\}$  converges to the class  $\varphi$  uniformly almost everywhere if  $f_n \rightarrow f$  u. a. e. for some  $f_n \in \mathcal{Y}_n$  and  $f \in \varphi$ . We write  $\varphi_n \rightarrow \varphi$  u. a. e.  $(n \rightarrow \infty)$  in this case.

Let  $\mathcal{M}$  be a system of all vector subspaces of  $\mathcal{F}(\Omega, \mathcal{Y}, P, V)$  which contain  $\mathcal{X}_{o}^{\infty}(\Omega, \mathcal{Y}, P, V)$  and are closed with respect to the convergence which was described above. Obviously,  $\mathcal{M}$  has the minimal element with respect to inclusion. This vector space is denoted by  $\mathcal{X}^{\infty}(\Omega, \mathcal{Y}, P, V)$ .

Theorem 3.1:

(i)  $\mathcal{X}^{\bullet}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V})$  is a vector sublattice of  $\mathcal{F}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V})$ , which is closed with respect to **u**. a. e. convergence.

(ii) There exists a unique nonnegative linear extension  $\overline{E}$  of E onto  $\varkappa^{\bullet}(\Omega, \mathscr{G}, \mathsf{P}, \mathsf{V})$ , which is continuous in the following sense  $\mathscr{G}_{h} \to \mathscr{G}$  u. a. e.  $\Rightarrow \overline{E}(\mathscr{G}_{h}) \to \overline{E}(\mathscr{G})$ . Remark : We shall write  $E(\varphi)$  or  $\int_{\Omega} \varphi \, dP$  for  $\varphi \in \mathcal{X}^{\infty}(\Omega, \mathcal{Y}, P, V)$  instead of  $\overline{E}(\varphi)$ .

In a similar way it may be constructed a conditional mean value operator. Let  $(\Omega, \mathcal{Y}, P)$  be a probability measure space,  $\mathcal{Y}_o$  be a  $\mathcal{G}$ -subalgebra of  $\mathcal{Y}$  and  $\mathbb{E}(..., \mathcal{Y}_o)$  be a conditional mean value operator for real functions. Take  $\varphi \in \mathcal{X}_o^{\infty}(\Omega, \mathcal{Y}, P, V)$ ;  $\varphi$  is an equivalence class of some simple function f of the form  $\sum_{i=1}^{n} \mathcal{X}_{A_i}$  a. Denote by  $\Psi$  the equivalence class of the function

 $\sum_{i=1}^{n} E(\chi_{A_{i}} | \mathcal{Y}_{0}) a_{i} \quad \text{. In this case } \psi \in \mathcal{X}^{\infty}(\Omega, \mathcal{Y}_{0}, \mathcal{P}, V). \text{ Putting } E(\psi | \mathcal{Y}_{0}) = \psi$ 

we obtain a linear nonnegative operator  $E(.|Y_0): \mathscr{X}_0^{\infty}(\Omega, \mathscr{Y}, P, V) \rightarrow \mathscr{X}^{\infty}(\Omega, \mathscr{Y}_0, P, V).$ 

Theorem 3.2:

(i) There exists a unique nonnegative linear extension  $\overline{E}(.|Y_0): \mathcal{L}^{\infty}(\Omega, Y, P, V) \rightarrow \mathcal{L}^{\infty}(\Omega, Y_0, P, V)$  of  $E(.|Y_0)$ .

(ii) The operator  $\overline{E}(.|Y_0)$  is continuous in the following sense:  $\varphi_n \longrightarrow \varphi$  u. a. e.  $\Rightarrow \overline{E}(\varphi_n | Y_0) \longrightarrow \overline{E}(\varphi | Y_0)$  u. a. e.

Remark : We shall write  $E(\varphi|\varphi_0)$  instead of  $\tilde{E}(\varphi|\varphi_0)$ .

We shall also use the pointwise convergence. Let  $\{f_n\} \in F(\Omega, V)$ and  $f \in F(\Omega, V)$ . We say that the sequence  $\{f_n\}$  converges to f almost everywhere if there exists a set  $A \in \mathcal{Y}$  such that P(A) = Oand  $\forall \omega \in \Omega - A$ :  $f_n(\omega) \longrightarrow f(\omega)$   $(n \rightarrow \infty)$ . We write  $f_n \rightarrow f$  a. e. in this case.

If  $\{\varphi_n\} \in \mathcal{F}(\Omega, \mathcal{Y}, P, V)$  and  $\varphi \in \mathcal{F}(\Omega, \mathcal{Y}, P, V)$  then the notation  $\varphi_n \rightarrow \varphi$  a. e.  $(n \rightarrow \infty)$  means that  $f_n \rightarrow f$  a. e.  $(n \rightarrow \infty)$  for some  $f_n \in \varphi_n$  and  $f \in \varphi$ .

4. The ergodic theorem

We have defined all objects which give us possibility to formulate vector lattice variant of the ergodic theorem.

Theorem 4.1:

Let  $(\Omega, \mathcal{Y}, P)$  be a probability measure space,  $T: \Omega \longrightarrow \Omega$  be a measure preserving mapping and V be a 6-complete vector lattice. For any  $\varphi \in \mathcal{X}^{\infty}(\Omega, \mathcal{Y}, P, V)$ :

(i) 
$$\varphi \circ T \in \mathcal{Z}^{\infty}(\Omega, \mathcal{Y}, P, V)$$

(ii) 
$$\frac{1}{k} \sum_{i=0}^{\infty} \varphi \circ T^{i} \rightarrow E(\varphi | \mathcal{Y}_{o})$$
 a. e. when  $k \rightarrow \infty$ 

(iii) 
$$\int_{\Omega} |E(\varphi|\mathcal{G}) - \frac{1}{k} \sum_{i=0}^{k-1} \varphi \circ T^{i}| dP \rightarrow 0$$
 when  $k \rightarrow \infty$ 

where  $\mathcal{Y}_{0}$  is the G-subalgebra of all almost T-invariant sets A  $\in \mathcal{Y}$  .

Proof:

(i) The set of all  $\psi \in \chi^{\infty}(\Omega, \Psi, P, V)$  such that  $\psi \circ T \in \chi^{\infty}(\Omega, \Psi, P, V)$ is a linear subspace of  $\chi^{\circ}(\Omega, \Psi, P, V)$  which contains  $\chi^{\infty}_{\circ}(\Omega, \Psi, P, V)$  and is closed with respect to u. a. e. convergence. So, it must coincide with  $\chi^{\infty}(\Omega, \Psi, P, V)$ .

(ii) Let m be a set of all  $\varphi \in \mathcal{X}^{\infty}(\Omega, \mathcal{Y}, P, V)$  such that

$$\frac{1}{k} \sum_{i=0}^{k-1} \varphi \circ \mathbb{T}^{i} \longrightarrow \mathbb{E}(\varphi \mid Y_{0}) \quad a. e. \text{ when } k \rightarrow \infty.$$

Obviously,  $\mathcal{M}$  is a vector subspace of  $\mathcal{X}^{\infty}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V})$ . The inclusion  $\mathcal{X}^{\infty}_{o}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V}) < \mathcal{M}$  follows easily from the ergodic theorem for real functions. If we show that  $\mathcal{M}$  is closed with respect to u. a. e. convergence we prove the equality  $\mathcal{M} = \mathcal{X}^{\infty}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V})$ .

Let  $\{\varphi_n\} \in \mathcal{M}$  be a sequence which converges to  $\varphi \in \mathcal{F}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V})$  uniformly almost everywhere. Obviously  $\varphi \in \mathcal{L}^{\infty}(\Omega, \mathcal{Y}, \mathcal{P}, \mathcal{V})$ . For any n we

have :  $\frac{1}{k} \sum_{i=0}^{k-1} \varphi_n \circ T^i \rightarrow E(\varphi_n | \mathcal{Y}_0)$  almost everywhere when  $k \rightarrow \infty$ .

Theorem 3.2 implies  $E(\varphi_{h}| Y_{o}) \rightarrow E(\varphi| Y_{o})$  u. a. e.

Let  $f_n$ , f,  $g_n$ , g be representants of the equivalence classes  $\varphi_n$ ,  $\varphi$ ,  $E(\varphi_n | \varphi_0)$ ,  $E(\varphi | \varphi_0)$  respectively. Since  $f_n \rightarrow f$ ,  $g_n \rightarrow g$ u. a. e. there are  $A_1$ ,  $A_2 \in \mathcal{Y}$  and  $\{d_n\}$ ,  $\{e_n\} \subset V$  such that :  $P(A_1) = P(A_2) = 0$ 

 $\begin{array}{c} \forall \omega \in \Omega - \mathbb{A}_{1}, \ \forall n: \ | f_{n}(\omega) - f(\omega) | \leq d_{n} \\ \forall \omega \in \Omega - \mathbb{A}_{2}, \ \forall n: \ | g_{n}(\omega) - g(\omega) | \leq e_{n} \end{array}$ 

and  $d_n > 0$ ,  $e_n > 0$  when  $n \to \infty$ . Because  $\frac{1}{k} \sum_{i=0}^{k-1} f_n(T^i(\omega)) \to g_n(\omega)$  a.e. when  $k \to \infty$  for any n,

there are sets  $B_n \in \mathcal{Y}$  such that :

$$\forall n \forall \omega \in \Omega - B_n$$
:  $\frac{1}{k} \sum_{i=0}^{k-1} f_n(T^i(\omega)) \longrightarrow g_n(\omega)$  when  $k \to \infty$  and

 $P(B_n) = 0$ . Put  $B = A_1 \cup A_2 \cup \bigcup_{h=1}^{\infty} B_h$ . Obviously P(B) = 0. Let  $A = \bigcup_{h=1}^{\infty} T^{-1}(B)$ . Then P(A) = 0,  $A_1 \cup A_2 \cup \bigcup_{h=1}^{\infty} B_h \subset A$  and  $T^{-1}(A) < A$  for any i. Take fixed  $\omega \in \Omega - A$ . Then for any n: ۰.

$$\begin{aligned} \forall \mathbf{i}: | \mathbf{f}_{n}(\mathbf{T}^{\mathbf{i}}(\omega)) - \mathbf{f}(\mathbf{T}^{\mathbf{i}}(\omega)) | \leq \mathbf{d}_{n} \\ | \mathbf{g}_{n}(\omega) - \mathbf{g}(\omega) | \leq \mathbf{e}_{n} \\ \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{f}_{n}(\mathbf{T}^{\mathbf{i}}(\omega)) \rightarrow \mathbf{g}_{n}(\omega) \quad \text{when } \mathbf{k} \rightarrow \infty \end{aligned}$$

$$\begin{aligned} \mathbf{I} \text{ means that for any } n \quad \text{and } \mathbf{k} \quad \text{the following inequalities hold:} \\ | \mathbf{g}(\omega) - \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{f}(\mathbf{T}^{\mathbf{i}}(\omega)) | \leq | \mathbf{g}(\omega) - \mathbf{g}_{n}(\omega) | + \\ + | \mathbf{g}_{n}(\omega) - \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{f}_{n}(\mathbf{T}^{\mathbf{i}}(\omega)) | + \frac{1}{k} \sum_{i=0}^{k-1} | \mathbf{f}_{n}(\mathbf{T}^{\mathbf{i}}(\omega)) - \mathbf{f}(\mathbf{T}^{\mathbf{i}}(\omega)) | \leq \\ \leq \mathbf{e}_{n} + | \mathbf{g}_{n}(\omega) - \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{f}_{n}(\mathbf{T}^{\mathbf{i}}(\omega)) | + \mathbf{d}_{n} \end{aligned}$$
Denote  $\mathbf{a}_{n} = \mathbf{e}_{n} + \mathbf{d}_{n}$ ,  $\mathbf{b}_{n,k} = | \mathbf{g}_{n}(\omega) - \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{f}_{n}(\mathbf{T}^{\mathbf{i}}(\omega)) | \quad \text{and} \\ \mathbf{c}_{k} = \sum_{n=1}^{\infty} (\mathbf{a}_{n} + \mathbf{b}_{n,k}) \cdot \mathbf{Then} | \mathbf{g}(\omega) - \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{f}(\mathbf{T}^{\mathbf{i}}(\omega)) | \leq \mathbf{c}_{k} \text{ and} \\ \mathbf{c}_{k} \rightarrow \mathbf{0} \quad \text{by Lemma 2.3} . \\ \text{The proof of (ii) is complete.} \\ (\text{iii) Since } \mathbf{x}^{\infty}(\Omega, \mathbf{y}, \mathbf{P}, \mathbf{v}) \text{ is a sublattice of } \mathcal{F}(\Omega, \mathbf{y}, \mathbf{P}, \mathbf{v}) \text{ the integrals} \\ \int_{n}^{k} | \mathbf{E}(\mathbf{y} | \mathbf{y}_{0}) - \frac{1}{k} \sum_{i=0}^{k-1} \mathbf{y} \circ \mathbf{T}^{\mathbf{i}} | \mathbf{dP} \text{ are defined and we may repeat} \end{aligned}$ 

the proof of (ii) (without using the representants  $f_n$ , f,  $g_n$ , g).

#### REFERENCES

- 1 FELLER W. "Vvedenije v teoriju verojatnostej i ee priloženija", Tom 2, Moskva, Mir 1984
- 2 HRACHOVINA E. "Ergodic theorem in regular space", Mathematica Slovaca, to appear
- 3 MALIČKÝ P. "Random variables with values in a vector lattice", Acta Math. Univ. Com., to appear
- 4 VRÅBELOVÁ M. "On the conditional expectation in a regular ordered space", Mathematica Slovaca, to appear
- 5 WALTERS P. "Ergodic Theory Introductory Lectures", Springer-Verlag, Berlin-Heidelberg-New York 1975

PETER MALIČKÝ, JABLOŇOVÁ 518/2 031 01 LIPTOVSKÝ MIKULÁŠ, CZECHOSLOVAKIA